11 O000D0Oooooooo

0000000000000 — Agsaryim Ghuamie
000000000000000000000000000000000000000000000000
000000000000 000000D000000000000000000000D00000000O0
000000000000 000000000000000000000000000D0000000o0Oo
0000000000000000000000000000000000000000000000000
000000000000 000000D0000000D0000000D0000000Do0000ooooo
000000000000 0000000000000000000000000000000000000
000000000000 000000000000000000000000000D000000O0DO0
000000000000 0000000000000000000000000000000000000
000000000000 0000000000000000000000000000000000000
000000000000 000000000000000000000000000D000000oonoOQ
0000000000000000000000000000000000000000000000000
oooooo
000000000000000000000000000000000000000000000000
000000000000 00D0D000000000000D000000D* 000000000000 00
000000000000000000000000000000000000000 Y¥,0000 C¥,0
oo YNoooooooo

0000000000000 0000D0000000D0000000D0000000Do000ooooog
0000000000000 000000*20000000000000KO000*0000000K=R
0000 K=COOOOODO0OO0O000000000000O0o00oooooono KOooooooooooao
000000 (scalar) DOODOO

KODOODOOODO (vector space) 00 0000000000000 00D000O0O0V 00 v,weV =
v+w eV OODODODODacKveV =aeV I0OODD0000D0D0D00000O0D0D0O0* 0000

(i) (u+v)+w=u+W+w),v+w=w+w.

(i) 0O0OO0DDO (zero vector) 10000000 0€V 000000000 veV OO0000w=0
(i) 0000 veV OODOOO010 =w.

(iv) (aB)v = a(Bv), (a + B)v = (av) + (Bv), a(v + w) = (aw) + (aw).

*6l QpOoUD000000000000000000000000000000000000000000000000000O0n
00000000000000000000 innovation 0000000000

*62 0 (field) DO0O00D0O00000O000000000000000000000000000000000000000000
000000000000 0000000000000000000000000000000000000000000000
0000 00000000 1000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000000000

*3 0000000000 00000 Koérper0OODOO

*4 QOO0 0000000000000000000000000000000MO000000000000000000000
000000000000 0000000000000000000000000000000000000000000000
000000000000 0000000000000000000000000000000000000000000000
00000000000000000000000000000000000
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00 () 000000000000000000000000000000000000000000000
00000000000 000000000000000000000 v40=1v+0v=(14+0)v=v00
00000000 (-1)w 00— 000000w+(—v)=w—-v0000000000v—v=1lv4(-1)v=
(1-1w=00000

000000 VODOOD WcCcVOOOOOO0O0000000000000000000000 VOO
000 (subspace) 000000000 W 00000000000000000D0

Remark 3. 0000000000000 000D00000000D00000000D0000000000000000
00000000000000000000000000000000000000000000 va=avOd00000
a(vB) = (av)B, v(ef) = (va)f 0000000000000 0000000O000D000D000000000000
00000D000000D00000000000000000000000

0 11.1. a0=0 (e KOOOD)ODOODOOODOO

0 11.2. 0000O00O0O0O0OOO0OOOO0OO0O0OOOCOOOOO0OOOOOOCOOOOOOOOCOOOOOOO0
oobbooobooooooooobooOoooboboooboooooon

011.3. VOOOooo w,wooooowuw’'ooooooooooowcw/ooo wow’' oo
ooooon

O 11.1.

() 000D00000D0000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
00000000000000000000000000*0000000

(i) 00000000000 M,,(KOOODDDOOO0O0D000 K* = M,;(K) 00000000
K" = M, (K)D

(i) 00000000000 KX 0000000 KX0OOOOKX 00000000000000
f:X-KOODODDODODODODDDDDDDDDD00 KNooooooo KNO

(v) 0000D00000D000000 K[f]00000o0o0o0noo K[ c Ko

(v)0DOOO r>00000000000000000 Cf]] € CH)0Y,5qent™ € Colt]] <
limsup |e,|'/" < 1/r 000000000 C[t] € Coo[[t]] € C.[[t]] € Co[lt]] DO OO

000000 VOOOOODOOOOOOOOO v,---,v0,, 000000000000000 VOOOO
00000000 {vy,---,v,} 00000 *%(linear span) 00000 (vy,---,v,) 0000000000
00w, --,» 000000000000000000000000000000000000000000
000000000 SO0000000000SO00000000000000000000000000
00000000000000000 (linearly dependent) *’"00000000000000000000
0000000000000000000000000000000000000000000000000

*65 Newton 100 00000000000000000000000000CO000000000 (1687)000000000000
000000000 Euler (1750) 0000000000000 0O0O0OOOODDODOODOOOODOOOODODOOOOOOO
0000000000000000 Grassmann (1840) 000000000 DDODODODDOODOOOOO

*66 span 000 0000000000000 0000000000000000MO00000000000000

*67 dependence 00 0000000000000 0O0D0000O0O0OONONDOOOO0DOOOO0
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gobooog «»,---,v, D00 O0OO0O0O0OOODO0ODODOODODOODOOOODOODOO
avr + -+ v = fvr+ o+ Brue = a1 =61, e = By
0 11.2.

() 0000 Ejx € Mpo(K)0OOOODDOOOE;, 00 (j,k) 00000 10000 000000
000000000000 ¢;=E;; €K, te;=F,;€K"000000000000000

(i) 000 " €K[ (n=0,1,...) 0000000000

(i) 00000000 {eMeCo[Y;A€CODDDOD (O 12.6,0 5.500)0

(ivy 0ooooooo {cos(azx),sin(bz);e > 0,b>0} CcC*(R) 000000

0 11.4. 00000 0000000000000 ODO0OODOOOODOOOOGE) O (ivyDODOOo

ooooo0ooo »,...,oy 00000000000 DOOOOO0OO0O0O0OODOOOOOOOOVDOOOO
O (finite-dimensional) 000 0000000000000 0OOOOODOOOOODO

O 11.3.

() 0000 KX 00DOD0O0OD0000000000000X 00000000000

(i) 0000000 ¢=(c1y...,6,) €'C" 00000000 Tpgn = AZhpn1 + - + cpzp (k> 0) O
0000000 *(z;)5 000 cN ooooocY ooooo cNoooooooooooooo
¢=(0,...,0,1) 0000000 n00000000000000000O

0 11.5. (1) 0000000000000 00OO00OO0O0O0OO00OO0O0O0OOO0O0O0 1160000000
0000000000000 D0O0O0000 e=(ey,e2,...,e,) 000 (basis) DO0OO0OO

(i) {ei,...,e,} 000000000000
(i) VO0ODOOOOOOOO ey,...,e, 000000000000

ooooooooooobooooood

00 11.4. 0000000000 VOODOOOO*000000000000000000000000
oooOoooO voooooodmVOoOoOoOO

Proof. OOODOOOOOOOOOO0OOO0ODOOODOOOOODODOODODODOOOODODOOOOOO
00000 e=(e1y..-yem), f=(f1,-.-,/n) 0000 m=n0000000mxn00 AO nxm0O
0 BOOOOOf=ed, e=fBO0000eAB=fB=¢, fBA=e¢A=f0000 AB=1,,, BA=1,
00000000 770000000000000000000m=tr(AB)=tr(BA)=n0000000
gooon
[0 0000000000000 00000000DOD000DO00O0OO00DOODOOODOOO
00000000 e=(e1,...,e,) 000 f=(f1,-,f,) 0000000f00000 f' =(fl,...,f)
000000000, (e, em, flas1r---,f,) 0000000000000

8 0popno000000{}00000000000000000000000000000000000000000000000
*69‘/:{0}DDDDDDDDDDDDDDDDDDDDDDDDDD dimV =00000000
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000 mOD0D00D0D0000000m=100000¢ 0 f0000000000000000000 f;
000000000 f00000000000000000{ey,f},...,f,}00000000000mO0
00000000000000 {e,...,ememy1 0000 m 0000000000000 000000
(fiy-- s f) D00 0empr D00 (e1,--vsems flasts---» f2) 000000000000 flypq,--., f, 00
00 0000000000000000000 {ey,...,emy1} 000000000000000DO0000
00000000 {fi,--, fA} 000000000 f/q,eeo, f/O0OBO(f, ey fon flrtseo £1)
0 (fi,-.,fn) 000000000000 (e1---)emi1s flrner---»f/)00000000000000D0

m

oo O

0 11.6. 0000000 (e1,.- - mt1, frogas---» f) 000000000000

Remark 4. 0000000000 00000O0O0DODOODODOOO0OOOOODOOODODOOOOOOOODOOOOOO
goooooobooooooooooogoooooooogo

0 11.5.

() 00000000 {E;} (000000000)0 M,,(K) 00000000dimM,,,(K) =mn
0000

(i) 000000 (e), (fe;) 0 K, 'K"ODOO0DO00O00dimK" =dim'K"=n0000

(i) 0000 (20,21, - ,&n_1) = (6;£)o<ken 000000 ¢000000 6§ (j=0,1,---,n—1) 0
0000661, ,6,_1 0 CYNOOoooDoo dmCY=noooo

0 11.7. () OODODOODODOOOOODO

00 116. n00000000 VOOOOODODOOOOODOOOODOOO vy, ,0, 0O000O0mM<n
oooooooog vn,---,v, 0 VOOOOOOOOOOOODOOOm=nO000000000000
000000 VOOODODO wWoooooooo*0000 dimW <dimV 000000

Proof. 00 9300000000000000O00OOODO U

011.8. 00000000 VOoOOoOooOOoOoooooooooooooooooooooooooovao
000000000000000000000000 2dmV 0000000 dimpV =2dimV 0000
0opooo0d dmpC=20000

000000000D0000000000000000000000000000000 {Vih<i<r
(V; #{0)) 00000w +---+v, (v, €V;) 0000000000 Y)_, Vi=Vi+---4+V, 000000
0000000000000000 {Vhe< 00000000000

’Ul—|—"'+’l}r:0(Uie‘/i):}/ul:"':vT:O

00000000000 Vin(Y,, V) ={0} (i=1,...,r) 000000007 000000000 {v;}
(vu#0)00000000000000000000000 {Ky,}0OOOOO0OO0O000000000
000000 VOO0OO0OO00 V;(1<i<r)00000000000{%}0000000V=V,+---+V,

*00ooo0000000000000000000000000000000
*71DDDDDDDDDDDDDDDDDDDDDDDD%OV}:{D}(i;éj)DDDDDDDDDDDDDDDDDDDD
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0oo0ooooooooovV=Wwe---@V,00000000*?000000000000000000 V;
goobooooooboooog «=1,---,,000000D0OO0OO0DOOOOODOOODOOOODOOOOO
gooooooo

0 11.9. 000000000000 V=V+V%+% 00 VNV ={0}(j#%k 0000000000
000000000

gooo
000000 VOOODOOOOoD wWoooo ¢:V—-WOoO0O (linear) 000000

P(v+0') = ¢(v) + 6(v'),  dlav) = ad(v)

0000000000000000000000000000000000000000000000000
0000000000000000000000000000 ¢(v)=¢v0000000000000000

0000 ¢00000 kerg ={v e V;p(w) =0}, ¢(V)={¢(v);veV}OO00D000D000DOV, W O
00000000

00 11.7. 0000 ¢ 000O0DOkerg={0} 000000 ¢ 00000DOOODO0ODOOODOO

Proof O000¢(v) =0000 0#ve€V OOOOO¢0w) =¢0) 0000 ¢ 00000000000
dpv) =¢()0D0000¢(v—2)=000 v—0v' €kerp 00D DOO00kerp={0} 000 v=12"00
og U

000000 VOooOooooooD wooooooooo L(v,w)oooooL(v,w)ooooooo
goboooooooboooon

(P +9)(v) = ¢(v) +9(v), (ad)(v) = ag(v).

0 11.8. 00 Ae M, (K)DOODOODOOOOODOODOODOO 4:K"-K"00000O0OD0OO KOO
K" 00OOOO0O0O0O0OO00OD0O0O0o00000o000000000000000000000000oo0ooo
gobooooooooooooboooooboooobooooooooon

[A+ Bl = [A] +[B], [M]=Al4], [AB]=[A]c[B]
000000000000M,,,(K)0 LK*,K™) 000000000000
000000 VODOO0OVOO00D00000 mO0000000 V*0000000000
(U17"' 7Um)_|_(w17... ,'U)m) = (U1+w17... 7'Um+wm>7 )\('Ulv"' 7'Um> = <)\Ul7"' 7)\Um)

000D0000000000000000 VOOOOOODOOO (multiple vector space) O 0O 0O *730

*200000000000000000000000000
*3K™ O0oDo0D0000000000000000000000000000000000000000000000000000
00000oooove™ oooooo
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00 11.9. 000000 v = (v1,...,v,) € V" 00000 ¢:V - W OOO000 A= (a;) €
M, ,(K)OOO ¢ve W™ vAeV* 00000

ov = (Pp(v1),...,0(vm)), vA= (Z Vil - .- s Zviain)

0000000000vA00D0O0O0O0OD0O0 » 0000000 w=0wA00000000
00 11.10. 0000 ¢v,vAO0000O0OOOOOOOOOOOOOOOO

(i) 0000 ¢: VoW, p:W—=X00000¢(gv) = (pd)v.
(i) 00 A€ My n(K), Be M, (K)0DDOOOO (vA)B =v(AB).
(i) 0000 ¢:V-W OO0 A€ M,,(K)0DOOOO (¢pv)A = ¢(vA).

0000000000000000000 g¢v, vAB, pvAD0OOO0O0OOOOOOOOO
0 11.10. 0000000000000 00O00D00O000D000 ppvABOOOOOOOOO

0 11.11. 00000 ¢:V W O000000¢(v,---,0m) = (¢(v1), -+ ,¢(v,)) 0000000000
0000 (¢v)A=¢(vA) 000DODOOODO ¢ 00000000000000O0

0 11.11. 000000 v=(v1, - ,vp) €V? 000000 z€K™=M,,(K)DOOOODOOOODO
0000 p]: K" -V 000000000

T
[v] 1z = = vr =201+ + TUm € V.
T
OO0 K"0OO viOooOOoOooooooooooo
000000{vy, - ,v,} 00000000000 [p]000000000000000V = (vy,-++ ,vm)

000000 pJ000D0000DO0O000DD0O0O0v=(vy,---,u,) 000000000 pOODODOOO
goooogo

0 11.12. () 0O0000000v = (vy,---,v,) 0 VOOOOOOODO¢gv =0= ¢ =00vA=0—
A=00

0 11.13. 0 11800 11.11 0000000000000 0000v 000 A€ M,,(K)0O00DD00O
[v]o[A]=[vA]0 K" OO VOOOOOOOODOOODO

0000 ¢:V-WOOOUOOO0DODOOoDoooOoO (linear isomorphism) 0000000 (isomor-
phism) 00 0000000000000 000D0D00000000000000000000000000
00000 *4(isomorphic) 0000V W 000000000

0 11.14. (/) D00D0O0OO0ODOOCOOODOOOOODOOOOO

0 11.12. 00000000 My, ,(K) O M,,»(K)0OOODOODOODO0OK" D ‘K" 0000000

*40pooDOo00000000000000000000000000
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0 11.13. 0000 ¢ = (¢1,--,¢,) 0000 0cODOOOOODO (CIC\I OO0 iIC" 000000 ¢ 0O
do((zr)k>0) = (0,21, ,Tm—1) O00000¢ 000 <= m>n, ¢ 000 < m<ni0000
0000000 <= m=n0O0000

0 11.14 (000000). T:Cl[]] 3 5, awt® — (klag)eso € CY 00000 (DDDDODOO00O0D) 00
00000 CNB(ak)HEkZO%’;tkE(C[[t]]DDDDDDDDDDDDDDDDDDD
D007 000 Col[t)) 000 TCo[[t)] = {(ar) € CN;limsup |ay/k[/* < 0o} DOOOOOOOO

00 11.15. 0000000000000 V, W 0OODOOOOOO0O0D0000000000000000
0000000p000000000000 K'OOO00OO0D0DD00000000 ¢:K*—»V0OVOOoD
e= (e, -+ ,e,) 00000000 ¢=[] 0000 ¢(z)=ex (zreK*)0DO0O0D00D000D000

Proof. 000000 V OOO (ey,---,e,) 0000000 : K" -V OO0D0D0D00000000000
0¢:K'—>VOOOOOe=(¢(6),---,¢(6,)) D0V OODODOOD¢=1[] 00000000000
©: VW Oooo000(p(er), - ,9(e,)) 00W OD00O000000dimV =n=dmW 0000 O

0 11.16. 0 11.110000000000LK™, V)0 V* 0000000000 00O0000 V™ =
LK™ V)0DOOO0OO0OOOv= [0 00000000 m=10000V =L(K,V)000O0OOO
veV OODDO K3A— eV OOOOODOOOO00000000000000

000V OO0 e=(ey,...,e,) 0000000000000 veV Ov=a1e++ape, 0000
0000000000000000000000000 (z;) 0000 ¢e0000 v00000000000
000000 e=[]: K-V O0OO00OO

goooooogo

0000 f=(f,....fo) 0000000000 e0000 f 0000 (pij)icicy 00000F =
(3, pireir- - S pine;) 00DODDO0O000000 P=(py;) 00000f=eP 00000000000
0 f0000 e 0000 (¢) 0000000 Q=(g;) 000 e=fQOO0000P,QOOONODOM
O (change-of-basis matrix) 000 0nxn 00000000000 K'—-K'O0OODOOODOOP=e"1f,
Q=fled00O0DDPD QUUOUDDOOOOOODOOOOODDOOOODe, fO0000 v0O0OO
00000000000000000 z,yeK'O00000er=v=fyOO00z=elfy=PyO000O
y=flez=Qe=P 'z 00000000000000D (0000000 )0000

0000 ¢: VWOV, WOO00 e=(e)1<j<n f = (fi)1<k<m 0000000 A€ M, ,(K) 00

dlex) =D _ajrf; <= (dler),,d(en)) = (f1, -+ fm)A < ge=fA

[IEIDD[I[IDDDDDDDDDDDDDDDDD[A]:f_qu)e[IEIEIDEIEID 0000 o000 e, fO
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0000000 *7(matrix representation) 000 000

vV — o w

dl K
4]

0 11.15. D0000000000000L(V,W) M, ,(K)0OODO

00000000 (D0 95000000000)00000DODO0O0O00ODDOO0OODODOO0OODOOOO
gooog

00 11.17. 0000000000000 D0O0O0 ¢: VW OOOOOdim¢(V)=dimV — dimker ¢.
O000e¢ 0000000 DO00D00000 dmW =dimV —dimkergp 0000

0 11.18. dimV =dimW <oco O0O00O0O00O0O

(i) ¢ 000 (kerd = {0})0
(i) 0ODO (W =g(V))O
(iii) ¢ 00000

0 11.16. (1) 00000000

goboobobooboobobooobooboooboobboobbuoobboooboobbooboon
goobobobobooooooboooobgobobobobooobooobobobobobobooo

12 O0O0O0O0d

0000 V=WwWooooooooooooooooooooo0o0 (linear transformation) 00 00 O
0000 (linear operator*™) 0000 0* 0000000000000 0DO000OO0OODOO0OO*SC
00000000000 00000000D0000000000000000 VODOOOOoOoooooao
L(v)Dopooooooooooooo M,,K)=M,(K)0OODODOODODOOOOOOOOOOOO0OO
000000000000000000000000000V 00000000 (identity map) O Iy 00O
00000 1000000000

0000000000000000 VOOO e= (e, ++,6,) 000000000000000000O0
00000 L(V)2 ¢~ [e] 1¢lel e M,(K)DODODODOODOOOODOOODODDOOODOOOOOO

0000 (e~ eleD (el ¢le]) = [e] = (e¥)le] (o, ¢ € L(V)).

*75 representation 0000000000000 00000000O00O00D0O0O0000O0O0000O0O0O

*76 operator 0000000000000 00D0000D0O00000OO00000OO00D0O00000O00000O0N000o0n
goooooooooOoOOOO0OO0OO0OO0OO00O0O0OoOoOoooobooon

*TO0O000000000000000000000000000000000000000000000000000000000
oooooOooooooooboOonoo

* 0OD0000000000000000000000000000000000000000000000000000000
jdboboooooooooooooooooooooooooooooooooooooooonooooooooooooooo
go0oooO0oooO0o0boO0o0ooOo0O0Oo00b0O000O00O0O000000O0O00O0O000O000O00 OO0
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